SAP ABAP table V. T7PBSCA2C {Generated Table for View}

V T7PBSCA2C-MANDT = T000-MANDT L il
__________ 0.N [MANDT [CLNT (3)]

- T500L
V_T7PBSCA2C-MOLGA = To00L-MOLGA - __ 0N | MOLGA [CHAR (2)]

_ _ V_T7PBSCA2C-CALCMODULE = T7PBSCA1A-CALCMODULE T7PBSCA1A
______________________ MANDT [CLNT (3)]
V_T7PBSCA2C-RESULTID = T7PBSCA2B-RESULTID  0..N [MOLGA [CHAR (2)]

T CALCMODULE [CHAR (10)]

T~- ENDDA [DATS (8)]

R B T7PBSCA2B

Tt~ MANDT [CLNT (3)]

0..N [MOLGA [CHAR (2)]

CALCMODULE [CHAR (10)]

RESULTID [CHAR (10)]

ENDDA [DATS (8)]




